
�����������	
������
�����������������
�	�������������������
��

��
�����������
	�����
��������������������

����������
��
�  ��! ���"� #$�



��������	
	�����
���	����

�

��������
�����������	
������
�����������������


	���������%#$&
����������
��

��
�������������'((����)��$
��


�������������		
�����
�����	��
	�


�
���* ��+�,����������	�����������
-
��$�������
����./�!0�	
�� �$
��

��
�0!!0

1�������
�	��#�
$���
2	����	���������������

	
��������"��$�����
 3��)���
���������

)�� 4���
��� �����������%#�
$���&

��������� �����	�
����

����	���#�����

��
���	�

������� ���5����6�	�����	�
��"
�����6
2������3����
�
		� ����
���
�� 
 ������ 	�����

4��$� -�$����7
��
�
���6 #����4�������6 ���$� ���
��
���6 4���� 4�����6 7������� (
���6 -��
��� #
	��
���6 2
���
�
 #�����6 ���
���� ����	�6 "��)��
��������6 (	� �
���$����6 3��$
��
 8
�+���
6 	��
"
���
 -������6����
� 3��	�$$�
�������	
�� ������������	


3��$
��
 ��$����
������
��


1����������+�� ����
�$
 ��	� ��$$������ ���9�3�

:��$� ����� ; ������ �
� �� �
�
�������
 	
� ����
5����
$�
� 	
��� ���
$� 	
� ����
����
6 ��

)
��� +
$�
������ �
� ���<�

�
� �� �����$�����6 �
��=���
$� 	� ��

��
�
 � ���)� ����

�=
$�
���6 �=���
��� 	
��� ���
$� ; $���� ��
��
��

��

��+���� 
 ���
������ (� ����������
 ; $���� ��+���� �� ��
$���
�
���6 ��� �� ����	
 ���
�
 �
�����
 	
������ 	� 	��
3��$
��
 
 	� #���� �������
���� �
 $�
�
 $��� ����)��
�
 	�� ������� ����� 	
��=�������$$
 
 �����
$
����� �� )��
$���
 	
��� 3
��$��



 �
�
$�
 %4���� 
 ���
$� ��$�
�


& ��
 	���� ���� ���
 �� ��
����6 ��
 ������

��
 ��
	���� �
��� 	� 	�)����
� �
��� ���
�
 ���
���
 	� 	
$��� ;
$���� ����)��� �� ����
��� 	
� �����$$�
�6 	�)
 )�
�
 ����
$
�)��� �=2�����$��� 
 $���
 ���
�� ���
���� $��� $���� ������
���� � ����
��� ��
 ��++������� � 	�	��� ���$����� � 5�
$��
�
��
$� �����
� 	
	����� �� ���
����� 	
� 

$
 	� $
��
�

��
6 �
� 5���
 $� $)���
 �� ���	�������
 $
���
��� 	
�
		����� ���=�		��������

�� �������������
� ��������	����
���	�������
��	�
��
����������	��
����������

��
�������� ����������	� �����
� ��	��
���
��	������	
���
���
�
��������	�������
��	

�
���������������	����
�
���������������������� �����

����
���� ���� ��
�	�����	� !
�����	 "�������
������#$�

%
����	

La parola del parroco
-�����$�
�
 
 $
�)��
 ���$�� ���� <
�
���
��� ��$�����
 4������ /
Un nuovo sacerdote
8�� 7��
�����  
�
��
 
 �
����
 �
Santi bresciani
��	�)��� ��)��� >
?������� ����
����
 !
Sacerdoti del ’900
8�� 8�

���� #
����� 0�
4���� ��+��
� 00
Cose sbalorditive
8�� �� $��
�� 0�
Vita sociale
���$����� 
 
�������
Centro Giovanile
2$�
��
��
 
$��)
 0.
@���� #�A$ ��
Scout
?��� ������
��
 �0
�
��� +��
$�� ��
Civica scuola di musica
(� ����
��� �� #���
��� �<
������ �
	
�$��� �<
� +�)��
 	
� 1
���� �� ?������� .
-�$���� �� 4���	
��� �/
San Bernardino
( ��
�� � 
"����� �
� � 
�$$������ ��
��
�
���
$� ���� �>
-
$����� ���$
�)���)� �!
(� ���	�����
 $��
$���� <�
(�$
����	� $� �
���� <0
4

����� ��	�
� ����
��� <�
Televisione
:�����$� 	� ����� <<
����
�$��� <.
Sport
3���	��	� �� ��$� < 
���
�	���� ��������� <�
?++
��
 <>
������+
 <!
(� 


���� <!

(� ���$$�
� ��

�� 	

B�=���
��C $��� 	�$�������


$����� / ������
 �����



Riconoscere
e servire Cristo
nella comunità

����$$�
� ����
�$�6
�� 

$
 	� $
��

��
6 	���

�� �
�
�������
 	
��� B�
����

��� 	
��
 5��	�
C6 �� ��)��� � ����
��
	
�
 �� ��

��� ��$�����
 	
��� ��$���
����������6 ��

 ��
����� ��
 ���
��
�� �� +�����6 �
� )�)
�
 �� )���
�� �� ��

��	� ��
 ��������

��
 ��
����
(� )
$��)� �
� �� ���)� ���� ��� ��
�
$
��� ��� $�
��� ��$�����
 �
� ���+��
������6 
� ���
�	
 �++���
 	
��
 ��	��
������� ����� �
� )�)
�
 �� +
	
 �� ����
$��6 	� ��� $

��
 ��������
 �
� �� �
�

	
��� )��� ���$����� �
�$����
6 +�
�����
�
 
 ��
��������� 4� ���
 �
�D ����

��������
 �� ��$��� ���
�����
 	� �
�
�
��� 	�����
 �=���� ��$�����
 ���� E
���< $�� �

� 
��
�
���	� � ��	��	� �	��

��
 ����� �
������� ���
� ����� ����
��
�� � )�)
�
 
 � ���$

��
�
 �� +
	
 �
���
��
����� ��$��� ��� ����������
 ���
�
�����
 ���
 ���)
 �
�
�������6 ��
���)���� (� ���$����� $�
���
 ��

 �
�
���� 	� +��
�����
 
 	� �
$��
�������
��� ��
����� �
� �
�������
 �=���
��
��)� 	
��=
$$
�
 �� ���� $��� 
	 ��=����

� $����
?��� ����
����� ; ����
��� � ��)����

�
� )���������
6 ��$��	��
6 	�++��	
�

��� 	
�
�
����� 
$�
��
��� ��
������
��� ��
6 �� 5�����
 
�$���6 �
�	� ��
�
$
��
 
 )�$����
 �� -
��� ��
 ���$�� ��
���������� 
 ��$�� �
� 	���
�$
� 	
��
���$������
��$$��
� ������ ����� ���)��
 �� ��$�� 	�
�������
 ��� )����6 	� �����
 ��� $���
��� ��
��$� �� ��� �
�	
��� �����������


��
 	�$�������� ���=�����
 
�$
������
	��$��
	�
++����
�	
��8���)�)
��
�
(� ����
��� ��$�����
 �����������
 	�
)��� ���$����� ��
�������� �
� �� ���)�
���� ��D �)
�
 ��� $����� 	� 
���$���
$
� 
 	� ���)������
 	���� ���� 	
���
���$���� �6.0* B2$$� �$�����)��� ���
�$$�	���� �=��$
���

��� 	
��� ����
$����6 )�)
)��� ��$�


 +���
���

��
6
����
����)��� ���� �
�� 	
� ������
 


��
��)������$�


C�
(��
�	� +��
 �
$��� ���
 	
��
 ��+�
$�
$���� 	
� ���$����� ��$�����
 �������
�����
 )�$$��
 	�����
 �=���� ��$�����

���0 � ���� $�� �

� � ��
����� �
�
 ����

����������
����	��
������
���	�����������
������ �� ��$�� 	� �����)��
 �� )��� ����
$����� ��
�������� ���� ����� 	
� ���)�

���
����6 ��

 ����
��� ��$�����
6
��D +��	��$� $� 5������ �
�
���* ���
�
��
$�6�������6����������
���
���
���

�� � 
�����
�� ��	���������
 ����
���

��������������	���
���
�������
��
���

�����������

�� ��	��
 	
��=�
�
��� 	� �� ��
	
��

; �� ���+����� 5����	���� ��� �� ��	
��

� ��
6 �
��� 
 ��$�� �� 

	�������
 ���
$�


 �� +���
���6 ��� �=���
�����
 ����

)
��� ��	����� 
 $�����	����� 	
���
)���� �� ����� ��������� ��� ��D ��F 
$�
$
�
 �������� 	�� ���$����� ��
 ; $

�
��
 ����
��� � )�)
�
 �� 

$$����� 	�
���$��� (� 	
$�	
��� 	� ����$����� �� B���
��� 	
��� +
	
C6 �� #�����6 ; ��� ������
�
� ���� ���$�����6 
� 	�)
��� ����

�� ��
����� 8� ���$
��
��� �� �����

����� ��		
������� �� ����� � ��
� ������

��� ��	� 	��
��� �
 
��� �����
	�� �


�� � ; �� 
�

��� 	
��$�)� 	
��� ����
���� 
$�
��
��� �
�����$� $�� 5���	� $�
������ 	� �
����
 �� $


 	
��� ������ 	�
8�� �
� ��F �������6 $�� 5���	� $� �����
�� 	� �����)���� �
� ���)���6 �
��� �	����

 �
��� �������� ���
� ��)����� � )����
������
 ����
 �
 �����$�
 	� �$�������

���
���$����6 	� ��+�
$$���
 ��������
6 	�
�������� +��
���)�6 	� �������
 	� $�����

��������	
	�����
���	����

�

�������������������	�

1� $
� $��
����

Tu sei silenzio:
di chi veglia, di chi attende,
di chi scopre una presenza,
di chi accoglie, di chi ascolta,
di chi ama e di chi serve.

Tu sei silenzio:
di chi piange, di chi soffre,
di chi porta la sua croce,
di chi è povero, di chi è semplice,
di chi prega, di chi è in pace.

Tu sei silenzio:
silenzio della Chiesa,
dello Sposo e della Sposa,
dello Spirito che opera,
del seme che cresce,
del sale che dà gusto,
della Parola che risuona,
della Vita che sempre rinasce.

&�	��� %���	�	� ��
��� '((�
 )	��� �	 %�� *	
���)	�
� !	���




������� �
� ������� $

��
 	� ��F ����
������ 	� 8��� �)�

� ������

�	� 	�
������
 ��� �����$�� �� 

����* !��
"�##�����	�
����$��������

�=�$�������
 �
�����$� ����� $�
��
 
$��
$�
������ ��
 ���
��)��� +
	
��� 
 ��
�
�
��� 	� )��� �� ��$
 ����
 �	 ��=�	
�
����� ��
��
�$���
 	� ��D ��
 )
���


��
 �� #����� ��$
���6 �� 	� �� 	
� $��
���+����� �
��
���� 
 	
��
 ���
���
������
�� ����
 ��)���������

��
 +���)������
�=��)��� ��
 )�
�
 ��)���� � ����� ���$��
$�
 �
� ����
�����
 �$$�	��

��
 ���

�$�������� $���� ������ 	� 8�� �
� ����
��)��
 ���)������� 	� +
	
 
 $�
��
 	�
)����
���
� ����
��� �	 
$$
�
 �
�
��$�
����
���� 	
��� ���
�� ����� ��	
�� ��

��
� �	 
$$
�
 ���
��� ���=
����� �
���

������ � ������� ��	���� �� ����������6 �
$��
� �$�+����
 	
��� ��������� �����

������ � ��� �����
	�� � +�)����
 �� ����
�
��������
 	
� ��
����6 	
� ������� 

	
� ���)��� �� ���������
 �	���
 �� ����

�	
 ��
������ � ���� ��� �� �
�� �	�������

�������
��	���
�������
-�)���� �=��)��� ���
 �� ���
���$��6 ����

	������� 
	 ���
����� �	 
$$
�
 �
�
�
��$� �
� )�)
�
 � ���� �������� 	� +��
��
����
 �
� ������6 ��

�$$����6 �$$��
��������6 ���$����6 ���$� �
� +�	������6
�
� �
 �����
 	� $��$� 
 �
� �
 +�
����
�
#���� 
	 �

��
)��
 ; �=��������)� 	
�
����	� �� ���
��
 �� �))
��� 
 ��:���
�
$�
��
8�����
 �=���� ��$�����
 $���$� ��
���$����� ��$�����
 �����������
 ��
	
	����� �
 $�
 	�
�� �������� ���� ���
$�����
 ���)����
6 ���� ���
��
$� 
 ����
����������
 ���$�����* ����� 5�
$�� ��)��
�� $��� �
���� �� 
)�	
��� 	�����

�=�������$�����
���
�$����
���������
�

%� &�	���������
 ���� ���� �
�������

	���������

���������$	���	�������!

���	�� �

�
� ����� 	
��� ���� 	
��� ���$����
%�6..�./& $� �
��
 ��
��$�

��
* B%���
���
 �	��	�	 	��	��� � ������
 ����
 	�
�
����+ �� �
�
 
�

�	��, � 	 �
�
 ���	 �	
��������
 � �� �������
 
���� � ����	�
���
��
 	� �	�
��
 �	 �	�����
-� ����
���
� ��
 �� 5�
$�
 ����
 ��� $� ���
��
	
)��� 	��
 ��
$�������� �����	���
 �

����
���
 ��
��$
6 
� ��	����
 ���

;�� 
 ��� $���
 	� ���)�)
���G 5�����
��D 
$$
�
 ������
 �� �� 
��	� �� ���
�� ������� 	�
�����
 ��� $

��
 ��)��
�� ���� $���	���
�� 
 ���� ���	�)�$���
6
5�
$�� ����
��� 	� 
�$$�
� �� ��� ��
���
� ��$�� ��� ; B�� 

����C6 �� B����

+����C6 �� B���	����)���C6 �
�$H �������
�� B��$����C 	� ������� �� $���	���
��
���
��� 	
��� ���
$� 	
��� ���$����
+�������)� ��$H �
�
 	� ���
� 	��
 ��
����� � ������ :�
$�� $���	���
�� 	
)

�)
� +���� ��=�
��
$$���
 ���+��	� $�
��� 
�� +���� 
 +� 5�
$�� ��� 	
��
 ���
����� 	
��� ����	� 	�++�$���
 	
� ����
$����
$�
�� �� $�� ������
 ����
� 
��
�=�
��
 +���
��� 
 �� $�� ����� ������
������ �� �
�
�������
 
�����$���� 	
��

��
����� ��	����
 �
� ������ 	
� ���
����
� 1���� 5�
$�� �� ����� �	 �
��

�� ��$��� ��
����� �����������
6 � $��
$�
�
��� �
��
 $�
 )���
 ��������)
 	�
���$������ 
 	� �
����������
 	� ��
�

�
� �� �
�
 	� ����� 
 	� ���$����6 5���� ��
��
��
��

��� 	
� �
���� ���)����
6
�� �
���
�� 	
� B-���C6 �� ����������
 

$�$�

�����
 	
��
 )���
 ���
$
6 $��
��������� �� 8��
�6 ����� 4���� 
 ��
���
$� 	
� ��
��
��� (� 5�
$�� ���

��$$��
� ����
 �������
�
 �� ��
�
���
	� �
�����	� ���� ��������� ����� ������6
��������
�	� $
���	� �
 ��	�������� 	�
�
�
��$����
��
��$���
�
8�����
 5�
$�=���� ��������
� �� ���

����� ��

 �� B���
���C 	� )�)
�
 

	� �
��
� �=�
�
��� 	� +
	
 
 	� $����
	���
�� 	
)
 
$$
�
 ������� �
��� ����
���� ���
$�6 $
��� ��	��
 ���� ���
��� 	�
$�������� 	
��� +
	
 
 	� ���
�)
��� 
��
������$�����+������
:���	� ����
�����
� ���� )��� ��
����
����� B5��C 
 B���C �
� 
$$
�
 ��������
��$�� 	� ��� ��$��$�� �
�
��$� ���� )��
������
 ���$����� ��� �� �
$��
�������
	� +
	
 
 	� ������ +���
���6 �������
��
	��� 	� $
�$������� ������$���� 
 	� $����
	���
�� ��� ��� B+��
�C 	� �����
 
 	�
�����
��	������ +����� 	
� B$� 	�)�
��
�
C6 
� 	
� �����
�� 
 �������� �
$��
	� ������6 	� $�$�
��� 
 	� ����
��������
�
6 �
��� ���)������
 ��
 �
 $

�����
�����
 ��� ��$$��� 
�� ��$������
 �

+��	�

��� 	� 
	�+��� ���)� � 	� �����
���
�

'� &�	���������
 ���
 ������	� �� ����

������(����
���)���
	�!

�����	����

�� ��
����� �
� �� ��� ��
$���� 
)���
�
���� )��
 �� �
�� 	� �
�
����$� ; ���
��
����� ��
 $� ��	��� �
��� ��
�����
�
 
�����$���� 
 ��
 �
�	
 ���� ��
��
�
����������
 �� ���$�� ��$���� 
 ����
���$
�$$���
 	
� )
�� $
�$� 	
��� ������
��� ��

 
$�
��
��� 
 ��
�����
 ��

�$�
�� 	� 8��� ���	�)�	
�	� �� $�
$$�
���
6 ��� ��
��� ���
)��� �� +���� 	�
	����
6 ���� $
5�
�� 	� 3
$F6 �� ����

���� )��� 
 ���)��� �� $��)
��� 	���� $��
����	��
 
 	���=

����������
6 	�� �
��
���� 
 	���=
���$
�G ����
�����	� ����
$�
$$� ���
 )
����� ����)���� 	� 3
$F

 �))���� 	���� ������ 	� 8��� �����
�
��+���� ��$���� 	� �
��
 
 	� 
$$
�

�
���� �� �
�
�������
 
�����$���� ;
�=
$��
$$���
 ������
 
� 
++�����$$�
�
	
��=�
��
 	�8�� ��
 $� ��)
�� �� ���$��
3
$F �
� �� ��$��� $��)
���� �
� 	����


��� 	
� 7
$��)�6 �
������	� �� "���

���
 �� �� �
��
 ��� ������� �� .!� ����
�� �=�����+��	�

��� 	
� $
�$� 	
���
�������� $� �
��
* B�$$�����

��
 �
��
����
 $��� �����+��	��
 �� $
�$� 	
���
+
$�� 
 	
��� ��������6 	
��� �
�
�������
�
 ��
�������� ������� ���� 

�$� 	
��
�� ������ 
 	
��=2�����$���6 	
� ��

��
�� 	� +
	
 ��$������� 	���=���� ��������
��� �� ��
����� ���$����� 	
)
 $

��

�����	��
 ��
 �� +���
 	
��� +
	
 ; ��
��
���
�� ��
��
 	
��� ���
$�C� :�
�
$�� ; �� �
�
��� ��
 ��$$��
� �$$��


��� 	�����
 �� ���$$�
� ���� ��$���
���
�

*� &�	���������
�������	�����	�!

��	�����	��

?��� ���$����� ; ����
��� � ��$������


 ���
��)
�
 �� $
�$� 	
� #�
	�
 ���

����
	� �
� $����+������ 
	 ������
 �=�
�
�
��� 	� ��
���
��6 $���������� 	
���
����� ����� �������� I� ��)��� ��
$$���
�
 ; ��)���� �	 ���� +�
����� 
 �� ���)���
�
� +��
 $����� ���� ��
���
��G �=
$�
�
��
��� ���$����� �� ��������
 �
� $��
����
	
��� ��+�
$$���
 
 	
��� ��	
6 	
��� ���
)�������
 
 	
� ���������

���� (�
5�
$�� ���
 $��
� ������� � ��)�)
�

��� ���
�$��� �� ��
���
�� �� +�
����� 

�
��� ��
�����6 ���
)
�	� � �����

��
��6 ������
��	� � $��
� 	
��� #����� 

������	� �� �
$��
������� 	
��� ������
�
����)����5����	�����
8���� ������ 	
��� .��	 ����	 .

��
�	
��
 �����
� ���$�	
���� 


�����
	��5�
 �
 5������ ����	����
 	� +��	�
�
� �����
6 �
��
 
 �
�	
�
 �� �������
��
����� 	� +
	
6 �� ����������6 ���
��
����� ��
 �
��� 	� �$�����$� 	� ��F
$���
 )
���� ���$����
6 ��
 $� 
���+
$��
��F $���	��
6 ��F 
�����$���� 
 
�������


��
�	
	�����������
���
���
�� 	
)�����
 ���� 4�	���� �� ����� �
�
�������
 ��� �
�
��$��� 5�
$�� ����
�
��� ������
 	� )��� ��$�����
 �
���
��$������
�����������������
�
������ � ����� �� ���� ��

��� ����
$����� ��� �� �������������
 	� ���$���
���
��
��������
$���$��������	��������

�
� /
���	


��������	
	�����
���	����

�



��������	
	�����
���	����

�

��������� ��	�
����


������
29 settembre - 6 ottobre 2002

3
$F ���$�� �
��6 ���� 
 $

��


01	���� � ����������� �� ����
����� �
���	�, ��	��	���-

�������� 	
 ������
��
�������� �� �	
����� �
��
���� ���
��������

?�
 0���� ����� 4
$$� �� 8��
� 
 B
��	���C
���� ��
����� 2	�����)� 	
��=��������
%���
���$��6 ���
�����6 2	�������6
�������������&

?�
 0����

 0 ��� #���
$�
� ��
�������� �� 8��
�

?�
 0>��� ����� 4
$$� 	� ��
�����

������ �� ������
��
�������� 	
� ��� �������� 
 �������

?�
 !��� ����� 4
$$� 	
��� ��
����� %����� 4����&
?�
 ���<� (������� ��� � �
������

	
��� $
���	� 
�


����
 �� �
���� ���)����


������� � ����
��
�������� 	
� �� ��������

?�
 !��� ����� 4
$$� 	
��� ��
����� %����� 4����&
?�
 ���<� (������� ��� � �
������ 	
��� $
���	�


 �
��� 

	�� �� �
���� ���)����


��������� 	 ����
��
�������� �
��� 	����� �� ���

?�
 !�������� 4
$$� 	
��� ��
����� %����� 4����&
?�
 0.�<�


 ���<� (����� 	
��� ������ 	
��� ������ 	� 8��
%��$� ��������&

������� � ����
��
�������� 	
� �
 ���������

?�
 !��� ����� 4
$$� 	
��� ��
����� %����� 4����&
?�
 ���<� (������� ��� � �
������ 	
��� �
��� 
�


����


������� � ����
��
�������� �
��� ���������
 
����������

?�
 !��� ����� 4
$$� 	
��� ��
�����
%����� 4����&

?�
 !�./ � 00�<�
?�
 0/��� � 0 ���

�	�������
 2�����$���� �� 8��
�
?�
 ���<� �$$

��
� ��
�������� 	
� ������������

�� ������������ �� �
���� ���)����
 %����
$����� ��$�����
6 ���$����� 	
��� �++���
2����
���6 ���$���� 	
��� ?������& 

	
��
 ����
������� 2���
$���� %�$$�����
�����6 3�����6 4�)�

���& $���� �
��
��
��$�����
 	
� ���)� ���� ���� � ���<

��
��� � ����
��
�������� �
��� ��������������


?�
 !��� ����� 4
$$� 	
��� ��
�����
%����� 4����&

?�
 0/��� ���+
$$���� �
� ����� �� 8��
�
?�
 0>��� ����� 4
$$� 7
$�
����� �� 8��
�

�������� � ����
��
�
��� �
��� �
��� �
����
 �����

�
� ����� �������

?�
 0���� ����� 4
$$� ���
��

	
��� ��
����� �� 8��
�

?�
 0 ��� 7
$��� �� ����� 4����

 ����
$$���
 
������

?�
 0>��� ����� 4
$$� 	� ������$���

	
��� �
���
��� 4������



�
��"�������
�$
��

���
�����  ��
�������	���
�


	�����
����%&!�!�'�%�

����	�
��

��	��
	�����
�������	�

��(
������
����		
�
����
�������	�
�

����
����#�	�
����)��	
����
������
!

��������	
	�����
���	����

�

���������	
������
�

��
����	��
��������	��������������	�����������

�
���

(�7
$��)� 	� #�
$���6 4��$� 3����� �������
��6 �� �$$
����� ���� ��$��� ����
������� 	�� 7��
����� #�$�� ��

 $��
�	��
 ������������
� 2��� $
����� ��
��$�����
 ��	������ ��$�


 ���� ����� $��
�	���6 �� ����� 
 ���
 �
�$��
 ���$��

����
� 8�� 7��
����� ; ���� � ������� �� 4������ �� <��<�0!<� 
	 ; $���� ���$��
����� $��
�	��
 �� �< ������ 	
� 0! �6 �������
 �
��� ���������� 	� #������� J�
$)���� �� 
���$�
�� $��
�	����
 ��

 ������ ���
� �4���������� 
 ��� � ����
)��
��� (� $
����� ; $���� ������� �4���

�	
���6 �4���� 	� 3��	��
 7� 1�6 ��� �
"�
�� 
 ��+��
 � ���������6 	� 	�)
 �����
 ��� � ����
����� �� �� �������

��� ��
$$� �� �
���� 3��)����
 �� )���
 ��	
� / %�
�� �<�
����<�0�&� 7�
�
 � ������ ��� ��� 
$�
��
��� ��$�����
 
���� ��$���)� 
 �� ���
$��� ��
����� $� $
��
 	�$�������
 �	 �������
��� ��� $��
�6 ������$�
��� 
 ���
��
���
������������
�
�
��� ���������� 
���� )�$�� 	� ������ ���)� �
���

��
 ��$�� $����+�����)� �� $��
���$������6 $�
��
 �
��� 	�

�$���
 ���
��
����6 +�
�����
 
 ��������)�� ��������
+��
 ��+
��

��� � ��� �
 �����
 	� $��$� ��
 ��� $� ���������� ��
$$� �� �
���� ����
)����
6 �
 +�
����
 	�$�������� � +��
 �� ��

��� $��������
 
 +��
���)�� 1��)
�
����� �� ��� �� )���	� ����� ���
 ��� ������� 
 ��� �

����� 	
��� �
��� ���� ��$���
���
 	
��� ���������� 
 �� ������I�����$�� ��������
�� ���
 ��
$$� �� ������$ ���
��������$����)�������������������)��
�	��)������������
8��7��
����� �� ���
�����
���� )��
���
�� 5�
$�� $�� ���)� ��
���� �
��� ���
$��� ��
����� 
 	� 5�
$�� ��� $��
� ������$�
���� 2$���
� ���
 �������	��
 �� 7
�
$��)� �
� �� 	��� 	� �� ���)� $��
�	��
 �
� �� ��$��� ����������6 �� 5����� �� $��
�������������
�;���
���$��
� ��

 	
��=���
�� ��
����� ���$�����6 	
� $��
�	��� 
 	
��
 $���
6 ����� � 	��
7��
����������
�)
������������������	�������
��=��������	���������)����

�� 
���
��


8��� 	�	��� ���� 	� 
���$�
�
�� $��
�	����
 �
��� )�����
��
����� �����������
 	�

���������6 
���
� ������������
6
��� ����� $�
������ ���+���
���6 	�

��$����� ��
)�$�� �
��� ��F ���


��$� 
 �
�
�����)� ��
����� 	�
������6 	
$�	
��$� 	� ��
$���
 $
�)��
��� �	 ��� ����������
 �� ��� ���

������ $��
 ���	������ ���$����
 

+
	
 ���)�����
"�� 	=��� $��� �
��� 	� 
$$
�
 �
�
�
)��

��
 ������� ��

 $��
�	��

��
 

��
 � 	�$��$�����
 	� �����
�=
$�
��
��� 
������� �� 5������=���
�� 	� )��� $��
�	����
�
( $
����� �$$
�����
� %�=��	������
$
�)���� 
���$�
����
 �� ����������6
�������������
 �
��� ��$�����
 +�
��
����
 
 ����
�����

��� 	
��
 ����
��
 �� 	�++������6 ������$6 �
���� 	�
�$�����6 8�
�$6 ��
�	�6 �
����
����� �
� �� 7���6 I�����$�6 �$$�$�
��
�� �� 
�����K& $�
�� ���)��� �� 


�� ��
�� 	�$����������6 �� ����������

���
�����
 
 �=
���$��$
� ��
 
$$�
�����
	���� �
 ��
)������� 	�++������
�������� �������
����� $�����

��

�� ��
��
�$���
 ��
 � ����
�$� ����
�� $

��
 
���+
$���� )
�$� � ����
$��
�	���� �=����� 	
� ������
 +��� ��
�
$���

2
� 1�����	�
 3
�	


�����������

	
�����
�
������������


��������
��������

8��������� #
��
��6 ��
 �� $)���� �� $�� 
���$�
�
�� �
��=?$$���6 ���
� ��

 ���	�����
 �
���
���������� 	
� ����� 3
�)�$�� 
 �����$�� �

8�
�	�$$���6 	�� 0!. �� 0!.!6 ��� ��

 ������� �
7������ 	� ���)
���� �
� �� ��
��
����6 	�� 0!.! ��
0!�!6 �� $
����� ��������$� � ������6 $�� ����� 	� ������
6
	�

���� 0 ������ �� �
�
����� ��  �L 	� $��
�	�����
�� �
��
���� ��������� ; $���� �++������ �
� 8��
� 	�

������ ���� ��
$
��� 	� 
���� $��
�	��� ��� � 5���� ������� 	�� ������� ���������6
����������$����>/�����6����������
�D�
������
�
�
�$���
����	��$����������)����
�
8��� �� 4
$$� ; $
����� �� ������ ��� �
��� $��
�	��� 
 �����6 ��
$$� �� �
����
3��)����
6 	�����
 �� 5���
 	�� ������� �� �����	��� ��� �))
��

��� $���
	���$�
�
� $�� ����� 
���$�
�� $��
�	����
6 $�$�����	� �
� ��
$
��� 
�

��� 	� �����6 	�
��
�������
�	����

�����
�
�������
� � 	�� ������� ������ ������ ���� 	� )��� 
 	� 
���$�
�� ��� �=
�
����
��
 ������ �� ����
����� �
� 	��
 �� $�� ��
���$� �������������
 $�� ���� ����
������� 	� ������ $�� �� ������ 	� ��
���
�� ��� ��� 	� ��
��
�����6 	
� 5���
 ; 	��
�
����
�$��������
�

42���3
�����	�
�������5���
��)	�������6��
����1�����7


���������		
����



● I� ������ ��$�6 ��� ���)��
 	����6
$� �
�D �� �$�
	��
 �
� $�������$� �	
��� ��	�����+��6 	��� ��
 ����
��


��
 �)
)� ����$��� 	�$����� ��
�
���������� �=
$��� 	
��=
$�

 +� ��
+��
��
 � ��
� $
�
��* ��$� 
�� 
���
�� 
�����6 ����� ��
 �� ����� ����
�)�
��
 ������ ��	��$� �����������
$� ��� �������
���� �
� �
�$D $�����
�4����6 �� $�� +�	������6 �� ����
��
�� 	� 
����
������� �� $
��6 5���	�
)�	
 4����6 ��� 	�$$
* MJ� 	
��$� 	�
��$������G ��� ���
	
�
� ��
��
6 ��
��
��N� �
� 4���� +� ��� +��$����*
$� $
���)� ���	���� 7���
 $��
�
 ��

���)� 	� 5�
��� 	
��$���
� 2 ��$�
���� +��
 ��� 	�$$
* M��
$��6 ���������


��
6 	�)�D $���
 �� �������
����
1� )����� �
�
 
 )���
� $��$���� �
�
�)
�
 �� 
�����G ��� )����� ��	����
� 
�� ��+
�
�
�
N� 8� 5�
� 
��


��� 4���� +� $����� ��
 ��$� ��
�
�)�6 	�$��$�� ��
=
�� � �
�	
���
�
� ��� +���� $�++���
� 8
��$
��
�����

��
 	� $��$��$�� 1�
 ����
	���6 ��$� ��+
�
 �� ��	�����+�� 	�
���������* 
�� �������6 $

����
�


��
 �������� 8
��� 
������� ���
�=
�� �
$$��� �������� 4���� 
 ��$�
���
���
������ 5�
� +���� ��

 ��

�������* 8�� 
�� ���
�)
���� �
���
���� )��� 
 �)
)� �
�
	
��� �� ����
�
��
�

*� !���)	
�	 � 5� 2����
�� ������
 ����� ���	�	�,

● I� ����	
 
�
$��� ��	���� 	� )���
$��������
 �� $������* M���� $
	���
$���� ��)� 	� �� ��$�
��� 
 �$$
�)� ��
$�$$� �����	� �


�$� �
��=��5���
8� 5����� ���� �� $�$$� ; �������
	���=��5��O "��$
 	� 	�
��6 +��$
 	�
�
���O 4� �=��5�� ��� ; ���$���� �
�
�
����
 �
� $�$$�� �
 $����� 5�
��
�� ��
���6 	
���� ; �$������� ��$H ; 	�
��� ��
 )�)��
� �


�$� �� 8�� 

��� �
 �
 ��$���
� �
�
����
* 8��
��
��
 ���� $��
�+���
 	
��� ��$���
)���6 ��� �� ���$+��
� �
���P ���
$��
� 	�$��$�� � ��$������ �
�
����


 ���$+��
��
 	���=�
��
 	� 8���
���
� ��

 �� $�$$� �
� ��$�
���
��
 �
� $�� ���
��� ��
��
 �$�����
��N�

5���� *)���


● :���	� �� ������ 	=��$ �$�����)�
�� ���+
$$���
 �
����� 
���� ���$$�6
�
���
)� �
���
��
 
���� ��
)�6 �


�
���
��
 ���$$
 �
 +��
)� ���G 5�
�
$�� 
�� �� $�� $�$��������
 )�������
-������)� ��$H* B�
 � 5�
��� 	� ��
�
���
��� ���$$� ��� �� +�6 

��=����� )���� ��� )�
�
 ��FG ���� ��
�� $�� ��$��C�
Q 5�
��� ��
 �� +���� 3
$F* �� ����
���� �� ����
 ��
 �)�
� 	�)��� ����
���
 ��� #�$���� ��
 $��
� ������ �
�����
 	� �
�$��� ���$�����

��
*

���
 ��$
 $� 

����� � ��$�� ��$H�

!� !������	

● (� ��� $����� 	� ���
���$
� �
� ���
����� 	� 5����� 
�


����
6 �=��$
�
�����
6 �� ������6 $��
��)� �=
��$��
	�� 	
� ���	�

��� 	� 3��	� 
 	�
5�
��� 	� ��
���� 1���� � ��
����
��


���)���* M3��	� ; �����)�6
�
���P $� ; �
�������N�
:���	=
���6 ��� 	� ���� $� ���� 

���	�* M����=�� 
� $��
� �
������
��N� 3�� ����� �� �
	�����$����*
M"��
 5�
$�� ; �
�����N� 2 ���* M�H
����=�� 
� $��
� �
�������6 
� ��
����� 	� 3
$F� 2 ������ $������� ��
�)�
� ��$�����6 5���	� ��� 
� �)
$$

�
�	�����N�

%� 5�����	��	

● 2����� 4
	� %0!���0!>�&6 ���
� 	�
$��$��$� 	�$$
 ���� $�� +����� 
��
���
* M-����	��� ��
 �
� 
�� ����
 

�
��� 
�� )��� �)��� $

��
 �� $
����
	� ��$��6 �
���P �� ���
� ; ��� ���
������ 	�� ������
N� �� +�	������
��$��$
 ��
 ����
 �
� )��
)� �� $�
$�
$� ��$�* M�� �

�

� $

��
 ���
$�


N�

● 8� $��3��)���� 7����
A $� 	��
 ��

��� $
��6 ��$$��	� 	�)���� ���=���
���
 �
��� ���
$� $�������� 
 ��������
�����	�$�6 +� ���
������ 	� ��� ����
�
$����
 ��
 $=
�� ��$��$�� 	�
���
�	 ��� ������� �
� )
��+����
 �� $��
+
	
 �
��� ��
$
��� 	� 3
$F �
� ���
�
�������* M4� �)
�
 ���)����6

��$�
�� �=���P6 )
	� ��
 �� ��
	
�
�
 	�))
��N6 	�$$
� 2 +� �=������ 	�
��� ���)
�$���
�

● ���$�� ; �=��$����� 	
� 
��	��
5�
�
 1�

● �
 �� ����� ��)
��� 	
��� )�$���
#����� +�$$
 ����
 $������ $�� )�$���
)����6 )�� ��� �)�
$�
 ��$���� 	� ���
$�$�
�
 ��$H �$������

��
 �
���P $�

��
	� ���=�������� 	� 5�
$�� �����* �

)�$��
 ������ 	�)�
��
�� �
�	
�

5��$� $��
�+��� �� #����� �
���P )��
$�
$$� 	�)�
$�
 ��������

��
 ���
$������
 �� #����� ���)��

8	�����)�

● 2	 
��� ��)
�
 ��� �����	� ��
����
�� ���$�����6 ��
 ����
 )���
 $� ���
�
)
�� �	 ����� ��������� 	
)��������
�6 �
����6 M��$�
��
 $��
�����
 ��

��� ��$$��� �����
�
�
 �=��5��N
%3
�

�� �60<&� 2��� �� ���$����
�
$�
� �
$� ���++
�$�)� 	���� �����



	�������6 ��� +
	
 ��5������ 	��
��
���

$$�6 ��� 
����
 ��	����
�� ����� 	� ���� $
�$�6 ��=
$�$�
���
�������
 
 $
��� )����
�

!
��� *	�������
 /����	

● M�
 �� 
�

��� 	� 
�����
 �
� ���
��	�$�6 +�$$� ������
��� $���� �
���
�
� $��)��
 �=���
� 	� �� �
������
6
�����
�
� �� ����� �� ����
 �
�
$�
6
�
� ���
�����N�

%�� 9	�	


 8��	

● M�� ���	
�� �
� +�� ��

 ���� �����
	
)
 ���$�
��
 $
 $�
$$�G ��$H 	���
���
� +��
 ���* ���$�
��
 ��� $�
$�
$� �
� 	��
 ���� 
$

��� ���� �����N�

%��  ���
 3
��
��


● 4
��
�
)� $

��
 �� ��$�� 	
� )��
$��� ���$$�
� 
 

��
�
 �� ���$$�
�
�� )�$��� ��$��* ���$���
�
 � ���	����
�
 ����� ��� 
5�����

9�������
 �	 %����

● �
 �)
�
 
	����� �� �������6 �)
�

+��
��� ��� �
�$���G $
 �)
�
 
	��
���� ��� �������6 �)
�
 +��
���
��� +�
������

5�
����	
 8�
�	

● ��D ��
 $� 	��� +����$�
6 ��D ��
 $�
��
�
 
����$�
6 ��� +� �� ������ 	��
)
��� �����6 
 ��� �� $��

��� *	
����	 3
��


��������	
	�����
���	����

�

������������������ ��	��������������
�����

���������	

���
������������

��	��	���	�
���

?������	����
�����
8�

�����!������00���

3��)
	H�!������00�����0/������0����
�������!�<����00���



Lodovico Pavoni,
un precursore
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Internet Room

Sarà possibile accedervi

per navigare, affiancati da persone competenti nel settore,

il mercoledì e il venerdì pomeriggio dalle 16 alle 18

e il martedì sera dalle 20 alle 23.

Per informazioni: Centro Giovanile.

�030 700731
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Cristiani, ecologia,
ambiente, creato

�
 �$$��������� 
���
$���� ����
�
�$�6 �� �����	� ��� �� �������
����6 5�����
 �

�� +� �����

���
�$$� �� �
�������
 �������� ���
	�� 3����
�
 ����
��� %�
$���$����

	���
$��� �
� � �����

� 
�������� 
 ��
$��)�����	�� 	
� ��
���&6 ��

���� ����
5�
$����
 �
��
����
� (� ��$��� ��
)��
$��6 ��� ��=�
��� �����	�����
6 ��

)�	
������ �� $
�$� 	� �� �
�
���
�����������
 $� 5�
$�� �

�6 ��
 �� 	
�
)��� ���)��
 $
�$�����6 $����������
��

 ���$������ �� ��$��� ���
�����

	
)
 
$$
�
 ��)���� � ����� �� ��
���6
���$��
)��� 	
� 	�)
�
 
����
 	� $���
)�����	��
 �
 ���	������ 	� )��� $����
�
��� ����
 �
� �
 �
�
������� +����
�
8�� ����
��� �� ��


$$� ��
 ��
5�
$����
 	
��� B$��)�����	�� 	
� ��
��
��C ; 
��	���
� ?���6 ����	�$$��

��
�
6 
���� $� ��������$���� 	�$�����
�	�
�� ������6 
��
����	� �
 +��
$�
 %)
	�
�
�������&6 ��

����	� �=��5�����


��� ��� �=
++
��� $
���� 4���
 ��$���
$
 ��������6 ��� ��� �� �
������6 $� )����

$���
�	�G +�� �� � <� ���� �� ���)
�
�

� 
���� ��F ��)
�� 	� ��$��$
� �
�)��
�� $����� �����$�
 ��������� ���
������
)
 � 5�
��
 	�
������6 �� ����������

	� ���6 ��
 +�)���$���� ��� ���)�


������� 
 5���	� �=�$$������
 	� ��
�
��$
 �
$���$������� ��	�)�	���� 
 ����
��
��)
6 
)����	� �=����	�$�������
 	
���
)��� $���� �
���6 ��D ��
 ; ��� �))
����
�
� 
���
 $�
��
 	
� �
��� ���
��
 

)
�
���
�
���$
��
�	� �
��� $�� ����� �
������
6
	�� 3����
�
 $� ; �		
������ �� 
����
����������� ����
���� ���� ���	�����
 
$��
�
���� 	� ��+���� 
	 ���
 ��$$������� 	�
$
����

���6 ���=�$� ��	�$���
����� 	
��
�=����
����
 
 	
� 

��� 	� ���$�����
���)��� ��$�
��� ���=���
���)� )
�$� � ����
$����� ��������6 
 $� ����
 $�
��
 ��

�������������
����
���������������
"��� �	 ������ 	
�
��� +�6 �� 5�
$����


�������� 
 �
��
����
 ��� �)
)� ����
)��� 
���� ���
�����
 �
����
 ���=���
�
��� 	
��� $�
$$� ���
$�G $��� �
� 0!>�
$� ����
����� � ������
 	
��=
�������

��

 $��
��� 	
��
 �
������� 
 $� $)�����
���� 	
� 
�)�

��� 
��������� ��� ���
���� =!� ����
������� �	 �$���
 � ���
�
����� ��
 �������� 	
��� $���� 	� )��� �
�
�� +����� $�$�
�����
� BQ �� �������6
��� �� �
�������� ��
 $��)
�� �� 
���
	�C6�����++
�
��������
�����
�
�� 5�
$����
 )�
�
 ��� ����
$� $������
����� �
� 	���

��� 
���
$����6 ��
 ���
����
��� ��
	
��� 
 ��� ��
	
��� �� ���
$�
��� 	
��� ������ 
 	
��
 ��$��$
 �����
����� �� ��$����
6 �
��� ���
$� ���������6
��
 ��� �=�����������
 8�� �� 
���+
�
$���� �� $�� �
��
 �
� ����� �� �
����
�
��� 
 ��� $��� �
� �=��
� %�� 3���
)����&� 2������� 
 +
	
 ���$����� 	
)��
�� ��	��
 	=�����	�G $���������� $
 $�
�
�$� ���=2�����$��� ��� �� 5���
 $�
���$�
��� �
 $�
��
 	
� ���
 
 	
�
7��� ���$������K �����
 ����� ����� �
�������
�
�������
�
�
8�� 3����
�
 ; ��� ��$$��� �	 �����

�����$�
6 ��
 5�� $� ���$$�
��� �� $���
�
$�6 
 ��
 �����
	��� �� ��
��$� �
�
�
��� ��
�������� �
� �������
 � 	�� )���
�	 �� ��	����

���

��� 	�

�������

 5���	� � ���$���	��
 ��� ���)� ����
���� 	
��� )��� � ������
 	���=��+������
�	 
$

���6 $� ����
��
 ��$������
 ��
������ �����
6 ��
 $��	� 
	 �����+���
	�$�� �
 �����

�����
 ����
���
 ���

��$��$
 ��������6 
 ��� $)������ $�$�
�
�����
 �)��5�
6 ���$��
)��� 	
� ��
���
	� ���� ��$��$� �
������� %���� 
 $����&6
����������
�
�
��
�����
3�� �++��� �
���� ���� �
$����
 	
��=�
�
��
��
 ������� ������
 � ���$�	
���
 ��
�����

� 	
� �������� ��� $��)������
	�� �
��
����
 
 ��)
��� �
� 1
���

��	�� #�$���� 	��
 $����+����� ����
��
�� ���� �����	� ���
���������� %-��
	
 V��
���6 WA��� 0!!�& ����
 

�
	����
 ��� �������� 
	�������
 �
�
��
����
 �
��
 +�
����
 
 �
��
 $����
6
�
���P �� ���� 	
��=�
��
��
 	� )��� 	��
)
��� ��� 5�
$����
 ��������
 ���
��
���� (�����
 	�����
� 
�	�+����
 � ���
$��� $���� 	� )��� ����
 ��

 ���$�
����
��6 $��
�	� $�
���
�
 ���	���� ��F �����
���� 
 	� ���)
��
��� 
����� �
�)
 ���

��$��
��� �
$���$����
 ����
 �
���
���	�����
 
 �
��� $
����

��� 	
� ���
+����6 
	 �� �����

� )� ��$���� � ��)
���
�����
�����$���������B$�++���C�
�� $)������ $� 
�$��� �� $
�)���6 ����

�
� �� $
����
 
��������� �
 � $
�)��� +���
������� �
�
 
 �� �������6 ��������
��
$�
�
 �� ������� 
 �=���
�����
 )
�$�
�
 �����

�����
 $������ 	
��� )��� 
 �
�
�� $��� $)������ �
�
���
 
 ���)
�$��
�
� ��� $
�$������� ���$�����6 ������ ;
����
��� �	 ���
������$�* �� ��$�
���
�
� �� )��� 
 �
��� 	� �����
 ��� $)�����
�� ��
 
���
��� �� �
��
��
 $�����


 �� �������
 ��������� �
� �� +�����O ��

�� $�����������6 �� $
�$� �
�
���
6
���
 ���
�����
 �� )����� 	
��� $������6
�������6 �
�����6 ���
6 
�$���6 $����
���������6 �
������
O 7�)� �� +
$�� �
�
	�� )��
 � ����� �� �
���� 	
� ��
��� ��


� ����
��� �
��=�
��
 	� 8�� ��
$
��

�
����$�����O
B8�� �� ����� �
��� �� 
��	� 	� 	��

���$���"����������
����KC�%3)�<60 &

�� ��+�
$$���
 ����� ���������
 ��� ���
��� �������� ��F 
������ (
�������
 ;
�)
������
�������� �

��������	
	�����
���	����

	�


������	����



��������	
	�����
���	����

��

Il concerto
in Broletto

"��$
 ������
 ��F ��
$�����$�6
�
� �� 	
�����6 ��� $� ���
�
)� $�
���
�

��� ��
 �� ��)��� $����� 	� 
�$���
����� 	� ������ ��� ����� ��� �)���

�	� 	� 
�$����
 �
 $�
 5������6

� �� ������
 	
� #���
���6 �
� ����

	� #�
$���6 ���=������ 	� ��=���
�$�

$���
 
�$����
 
 ���=��
����� 	� ��
+
$��)�� 	
	����� ������� ���
 ���
��
$��
 ���)�����6 �
�6 	����
���6 ;
������� �=�
��
�������
 �	
��
 �
�
�� ����
$�
� 	
��� 	� ��$$��
 ����
�������
��)����� �
�� $� $��� �		
�$��� �
�
����� �� ��������6 
� ���� +��
 ����

�� ��
�� ; $���� �������� 
	 �� �����
�
���� �� ������� +��� ���� +��
 	
�
����
���� �
���� +�
		� 
 )
��� ���
�������$� � $��
�������
 5�����

$������� �
� �
� 

��� 	� �� �$$���6

� ����
 5�
$�� +� ����
 	� ��� $
�
�����	������	�

������
�
(�$�

�6 ��$H 
�� �� ���
� �� $
��
	
��=> ������ �
� ������
 	
� #���
��
��6 � #�
$���6 �
� �� ����
��� 	
��
�=����
$��� 	
��� ��)��� ������ 	�

�$����
(� �
$�� $��� ����������� ��
 �
$�
�
����� �
��
$� �
��
 

��� %
 �
�
����
& 	
� ��$��� �������� :�
� ��

����� 	�))
�� ; �� $���
$$� 	� 5�
��
�� $
����6 ��
 ��D 
$$
�
 ��$��
��

 ��
��� 
�����
 �
� �� ��

��
�� ��
 ��� ; ����� �����6 
� ��

���

��
 �
�
� 2� $H6 �
���P ��
������ ��)��� 	� 
�$��� ; ���� $���
$
�������+��
Q $���� �� ���� �
� 	��
 $
�����
���
 �
��
 ��


$$
 ��
 )
��)���
	���� $
����
 
�$����
 	
��� ������


	�� 1�$������ 
 �� ���� �
� �+�
+���
 ����$���� 	� ��
$���� �� �������
	� ������� (� ��
��
 �� 	��� ���
�
��� 
���* +�������

��� ��������6
$�$�
��� �� �
������6 ��
 �
� +����
�

�� $� $��� �����������6 
 ��� ���
��
 ��� $
	
 �
��
 
S ����
�� ���)

%5�
��
 ��$�����
 
 
�� �$��
6 �����
�
� ���
�	
���&� �� $�
�� )���� ����

������
 %
 
����� ��++�����
 �� $��
$�
���&* �� $�
$$� $��	��� �� �����
$���
 ���� $
���
��� 	� ���$�����

�
�$����

��
 5����� +������� ��
$����� %
 �� +
�
��
� 5�� �
���P
��� )���


� 
$$
�
��� ����)
�
��
��&� ( �
������ $� $��� �����������6
	��
)�
�* 

���� ����������
 )�
	��� � -��
��� #
	���� ��
 	
���
$����� ; ��
$�	
��
 %�����+
�
���
����
 � +��
 ������&6 
� ����
 ����

� 	� ����
 ��������)
� 2	 ���
�=�$$��������
 ��$���	
 � ����� � ����
$
� �����
$�� 	�-
����
 
���)������
4� �� 

���� 
������
 )� �������
$����� ������� � ����6 ���� ��
�� ���
��
 0.� ����
)� ��
 ���� $
���
��� $�
�
�
�������
���
������
����)
�
2 �� ���� ��$
������6 ��
 ��� ��$�
$���
 
 ��
�
�
��� �� $
�����* ���
����� �� 	��
����
 ����$���� -��
���
�
�$
���6 � 
�
$��� ���� #
�
���6
���
��� ��)���6 ������� �������6
?
�� ������6 "
	
���� ��������6
4���� 4����)
���6 "����
$�� 1��
���
6 4�$$�
������ �
������6 3����
�� �������6 "��)�� ��������6 (�
�
�
�6 4���� ��	��� 
 4����� R���
������ ���� ���� � 	��
��� 	� ����� 

��������6 �����+���
 
 +�����6 )�����
��6 )������
���6 ������
���6 ��������
��$$�6 ������� 
� ����
 $�S�+��� 

�
���$$�����
I�� ��

� 	� $���

��� 
	

$��
$$���� 
�$����� ��
 $� )���
��
�
 �
�����
6 ������� �
� 	��
 ��F
����$���� �� ���)��� ����
)� 
 ���
��$
 ��F �
��� �
��� +��
�����

����
$����
�
�=����
$��� ��
 $� ; 
$����� �� #���
�
��� ; ��+���� �� ����� 	� 	��
���

	� ��� �
���� �$$�� ��F )�$�� 
 )�)��
�
6 ��
 ��� �� ���)��� 
�	� 	� +��$�
����
����
 ����
 �� 	� �� 	
��� �
��
���� 	
� )���� ����
�$�� �� ����� +��

����
 	� ��F $
 5�����
 $���$�� �
�
�
��$� $� �������
�� � ��� ��� $��
$��
�
��=��������)��

�� ����

������ 	
��=��+�����
�
	
�$���


��	������	
����� � 
�
�

Q�������� 	
� ����
��� ��
 ����
���
��� �=��$
��

��� 	
� ��
�� 	� ��

���� �
��=���� $����$���� ������<

���� ������ 	
��=��+����� �
	
�$���� :�
$��
�
����$� +��
���)�6 �������� ��� � ������6
����)���
 �
������ 
 ��$
������ ��� �� ����
	� 	
��
 	����$$
 4��	� �����	� 
 4����

4�$$
�	����� 8�����
 ��� �������� $��� $���
�
 	
+����
 �
 +������� 	
��� $�����* 
������
�
 �=�	
����� 	
� ��
����6 ���5��$���

�=������
��6 $)�������
 �
 ��
�
�
��
�
�
� ��������
��
 $� $��� ��������
 �
 ���


��
��� ��� $����� 
 +�
����� �� 
�	� 	�
����)���
�
 	��
���

��
 � �
������ 
	 ���
�
����
 ��$H �
 ���� ��$�
 
 ��
�����������
����� �� ���)� 
$�
��
��� ��
 )���� �	 �+�
+������
 ��� � ���� +�����
2$�
��
��� $�����

��
 �
�������
 
 $��
���+�����)�6 �
���P �
� �� 
������ ����

	
� ��
���� ; �� 
�

��� 	
� ���
� 	��
$����� 	���� +�
�����6 	
��=�������� ���
�
�$��
 ���)
6 ��
���� 
	 ��$
������6 	
�
	�$����� ��
 ��� ; B��	����
C6 
� ��
 ����
�� ���� ��$��� ��
���� � ��
$�
�
 �
� ��
�

��� 
)�����)� ��
 ; ����
��� � �
�����
�
�
� ��� 	�����
� 
$$
�
 �
��� ��� �
�����
�� �	 �$�������
 ���
 ����
$$� 
�������)�6
����6 ��$��� ��
���� ; �������� �	 �++������
�
 5�
$�
 ���

 	�++������ �� 
�	� $
�
��

 ����5�����6 ����������	� ��� �
 ��$
�
������ �� 5�
$�� 
�

��� 	=��$
��

���
$���������� �
� 5����� ������	� �����
 �
�
���
 +��	�

����� 	
����
 	���=����
$$� ��
��� ��
����� %��$�
��� 	
��� ����� 	=���
��
$$�6 �$����6 ��$�� 
 ����)���G ��$�
��� 	
�
��� ����� ��
���� 
 �	����G ��$�
��� 	
� 
��
�
�����& �� 
�	� ��
 � ��
���� ��� )�)��� �
�
���� ������ 	�)
�$
 ��� $����� 
 +�
������
����	��
� 	��
�	� � ����� � �
������ 	
�
��
���� ��
 ����)
����� ���� $�����
	
��=��+����� 	� ������
 ��
�� +�	���� �
� ���
)��� 
$�
��� 
	 �
��� 	
��
 ��$��
 ��$
�
������6 ��
 	
$�	
���� $��� �� �
�
 
 �� $
�
�
���� 	
� ��$��� +���� 
 $��� $

��
 �
� 	��
$��$�
 �	 �$�������� 
 ��$$�������� �� ��$� 	�
��$�����

"�� �		����� � ������ #��#��� � �����
	��

 )	��� � %�����

	�
�	� �	���� �� ����	�



��������	
	�����
���	����

��$�����$� �����

������
�	����������

�
��� $
�� 	� +��
 ���� $���
 ������

�����$����� ��� 	
� ����� ��F $�������
�� ��� 
 �
� $��)��� ��$$
�����	�


��� �
��� 
���� �� 
���� �����

$$� 	�
��
�����
 �
� �� ���	�������
 $��
��� 	� �����
�� �����P �
� ����	��
 ���
 ��)��� 	
� 

$�
���$���$�6 ��� ����
� �� ����
�
 	
� ��
����
���
 
 	
��=
$$
�$� �������� (� ���
� $
���

��
���
 
�� ��������� 
 ��
��

��
 ���$��
)��
�
� ��

���)��� �++������� �� ��� ����
 $
�
�
��G �� ���� � ������ 
�� ��
��	� �� ��=���

�$+
�� ��� ����������

��
 ����	�� :����
��
 �
$�	�� ���+�
� �����
���)� �=���� 
 �
�
$� $
���)� �� ���� �

������6 

���
 ��� �)�
)
���)� �� $
�$� 	� $����� �
��
�
���� (� $��
��)��� �� ��$�����
)� �	 
$$
�

���� ��
��$�

 +��
 �
��� ���
��� 	
� ������
�� �������+��� 

������
 �� ��= ����$�� 
 �� ��= 	
$���
�6 ��
+��
 	� �
�	
�
 ��
�
)��
 �� $��
�� 	
��� )��
��� $����$����� �
� ���� ��$$
�����
6 )
��
��
� ������
 	
��� ���+���������� �
� 	
�
�
�����
�
 ��� �
����� �	 �� ������ ���6 �
��
�	�6

$���
D* B���$�
�6 
� $
 
� $
��� ����)����
�� ���
� �
�$��� ��

 ��$$� $���

�
 ����
��OC �
� ������P* B�=; 
�	� 
 
�	�� �
���
�
�	
��� �� �
�$�������6 $� ��$$��� �������

��� �$������C� B3��T (������ ��
 ������K �
��
	� �

��C� �
� ��� )�)����� ������$
* B-��
+�
��
�	� �
� �

�� $� ��D ���)��
 �� �����
$���
 �
� ����
	
�
6 ��OC
�
��� 	�$��$$���
 $� 
���� �
$� ����� 	� 
$$
�

	�)
��
���� ��������� ��
 �� ���+���������� 
$��
$�
 � ��)
��� 	� ���
�
$$�6 


��
)� ��� 	�

��
$���
 	� ���� $����������6 	�)
 ��� ���
)� 
$�
$
�
 �� �
���
�	� )����
�6

���
 �
� �
�	
�
)� � $	��

�������
� ��� ��� ���)�)� ���$��
��
 
$�$�
$$
 ��� ��$$�)��� � ��)
��� $�����
 

�
�6 ��������	�6 ����
��)� ������
)��� 
��
��)������ 	� ������
�
 ������$����� ��� $

����
)� 
$$
�
 ������$��
��
 
 �
�6 � ��)
��� $�����
6
$�������
�)� ��
 ; �
�
$$���� �
�����
�
 �����
������ � $���	
 $����
����
 �
� �����
�
 �����
+���

��
 � ����� 	=���
$�� ��� $� $
���)� ��$H
���)� 	� )������* +��$
 �� ��= 
���
�������
���� )�)��
 	�$��$$���
 $���
	
��
 �� $��
��
��� ������$$�
�� �� ���� $� ��+�
��
)� ���
�� 

�

����
 $���� $��
�+���
 	
� ����G $���
 $����
	
 �������

 �� 	�$��
�� 
�)�

��� 	� 
���
����
�
�
�6 ��� ��� ������� ����� +


����
 
 ��$
�)��
��6 �
�
)� �� 
��� 	� ��� �
��
 $�
 ��

 ��
��� ��������
�
� �
� 
�� 
���� 
 �
� ��� 5�
� �
$�� �$$��


)� �� $����+����� 	� �� ������

5	���	
��	
  �
��

���+�
�����$,���
�+�
���

� �����
 

� �
���� ������������
. ����	�
 ����� 
��	�� �� 0��.����
- ���	���� �� 
�
����� ����� �
�����	
�
�� 
 ���
 �	 �� �����
 ����	 �
��	 ������������  ����
 �	
���	��� 
����	�)	��
�
 ����	�
 	��������
 
�������
�	� �	�

�	�	�	 � �
��	����� 	� �	��
�
 �� ����
�
 	� �
	�	�
 �	 ����	�	
� ��� �	�
���
 ����� 	��� �����	�

J��
��� ���
���

��
 �=���
�� 	� ������6 $�
����

��
 � )���
�������� ��
 ������	��� �� ��$�������
 	
� ���)� �
����
���=��������� ������

��
 $��� ��
�$�� $����
$� )
	
�	�

��
 5��$� �����6 ��� ��F ��� 

��6 ��	�)��� ������ �� ��$�������
 ��
�
���� ���)����
 
	 
���� � +�)��
 	
��� $��)
��� 	
� �
����
����=?�$���� J� ���
$�� ���� 	��
����
 ��

 
�� ��� �=
�� �
����

�� �������� ��
 +�$$
 +�)��
)��
 ���� ���)� ��$�������
� � 5�����
���
 � +�)��
)��� $� $��� �$�
���� 	�� ��


����
�
(� �� ���)� � 	��
 	�
 �����
 �� +�)��
 	
��� ���)� ��$�������
6 �
��
��P ����
 � +�)��
)��� ���� ��$������������
 	
� �
���� ����=?�$���
����� ������� 	
��� ����

��� +����

��
 $��
������� �
� 	� ��F $���
	�$�������� �� 	������� ��
����� ��� �
���� ����=?�$���� �� ��$�����

�� �
���� 	
� ��
$
6 �� +��������� )
�����6 �������$� �� 

��� ���

��$
6 �� ��= $�++�����
 $�
����

��
 	=
$���
 %��� $� $
 �)
�
 ���)��
�� � �����
 �� �
���� $������& �
���

��
 ��� ��)����� ��� 	
$�	
��
�$���
 � ��
�	
�
 ��� ������� 	� ���� +�
$��6 $�
��
 	� $
��� :�
$��
+��������� �� ��$���� 	� ��� ��
��
�� ��$������������
6 	� 

$$� �
���
�6 
 ����� 5����� $
�)
 �
� �� �����
 ��������� 1���� 5�
$��
)��� 	��
 ��� ��
��
�� 	

�������
 
 ����$�������
 ��� ����� ��� ��
�
�� �
�
$$���� �
 �� $��� $��� �� $�$�

�����
6 ���������	� �� )
�����
$��������6 +�� 5�����
 ���� �� +��������� $��� ��� �� )
����� ��$�������
���� 
 ��$����$� 	� �������
 
����
������6 
 	��� �� $��� ������ 	�
�
�$��
 ���� ��$�������
 	� �� ���)� �
����� �
 ��� ������
� 	
� ���
$������� 	� 5�
$�� �
����6 �
 �
 $��� $�����

��
 ����� 
 	

����
 ��
�����	� 	� ���)
��F ; ��

 ������
 �� ���
� ������
��� ����� �
���G
�
�D $
 �� $� 

��
 � +����� 	� ��� ���)� )�
�
 $������
� 	��
* 
��
�
���6 
� 5�
��� ���)� ; 
������
 	� �
� 8����
��� �� )
����* $
 ���
$����)� +���� 5�
$�� ���+����� ��� �� )
����� 
	 �� ���)� ����� ��� $�
�����	�)��� �
����
 ��F ��
 �=
�� ������ �� ����=?�$���� �� $��
��
�
�� ����
 ��� �
���� 	
��=������6 ��� ��$$� 	�� ���� �����6 
� 	� $�����
�� ��� )
	�6 ����
 �� �����	�6 ��
��
 	� 
��
������
�
������
� �� ��= 	
� ���)� �
���� ��
 $� )���
��
 ��$�����
 �� �
����
3��)����
 ����� (� 
����+��� ��
��
$$� ��
 ; $���� ��$������ ; ��
)���� 
 5�
��� 	� ������ ��$$��� 
$$
�
 ��������$� 	� 5����� ; $����
+����G $��� ����� � ��
$� ��
 $
 �� ��$$��� �
�

��
�
�4���� +��
$��
�
�� )
����� � ������ ����$�� �
� )
	
�
 �� ���)� �
���� 
 ��
������


��)������� 	� ����� �
� 	� 8��� �
�$� ��
 ���$���
 � ��$�����
 ����

�� ���)� �
���� $��
��
 ������� �� ����
���� $���� ������ �
��� ��
 ���
����

��� $�� ��� $�� ������ �� ���)� ��$�������
 $��� +����

��

$��
������ ��� �� ���)� �
���������
������
� �� ��= 	
� ��)��� ���
��� ���
 ��
�
 	=���
 ��� 
$�$�
���6
��

 �� ���
����� 	
��
 ���
$
 ��
 +���� ��5�� 
 )���� �$$������


��
 $��)�����	��
 ��

 �������� �$$������ ���6 )
	
�	� �
��� �
$��
����� 	
��=���
��6 $��� �� ��= �
���
$$�G $��
��
 

���� ���
� 
���

����
 5�
� B

��C ��
 �=; �� +��	� ���� ������ 	
��
 �++
��
 
 �
�$�
��
 � 
���� ����
�$� 	�� +�$��	��6 
����� �$�
����	� 5�����
 ����6 ���
$����
 �
 +�����
6 ��� �
�$� $� ����
��
 ������
 	
� ���)� �
���� ���
�� ����� $������6 ��� �� ����� 
���$��$
��
:�
$�� ; �� 
�� ���
�
6 	��
 ����
 )�� �� )�$����

*	�������
 9��	�	




� �	����	
�� ��������	

�
����� $� ; ������� � 	��
 ��
-�$���� �� 4���	
���� I� �
�
������ 	
��� ���� �� ����
���

�� ���
$
��� 	
��� ������	� �
� +�� ���
��$�
�
 ��� ���	�����
 ��
 ���
)� ���

�� $
������ 2 �� ��
����� ��)�)
 ���
��
 �� 5�
$�� ������������	� �
$���
(� 4���	
���6 � )
	
��� 	���=����6 ; ���
��$������ 	�)�$� �� 5������ �����6 �
���
��
����� �	 �)
$� 	� ������G ��� ���
�
$� $�����

��
 ���������
 
 �����
 ���
$���
 $���$
� I�� ��
����� )�)��
6
��� )����� ?��� �� ����	
��� 	� �
���
��
 $

��� �
$�$�
�
 ���=�)������ 	
�
��������� 	
��=��
� ����������
� ��� ��
��$$��� �=��+����� 	� 5�
$�
 ����� ��
$
����� ��

�� ��� )���� ���������

��
6 �� �

�� 	
��� ��
���6 �� 	�

���
��6 �� $��
$���� $�
�	
)� �� 5�
$��
���
$
��� B� 	��
C 4
$$�� 2 �� ���
$� $�
��

�)� 	� +�
����
 ��
��	����6 ���
�=��
����� �
$� � �����
�
 �� ��
������
��� 	
��=
��
$�
� �����$���
 �
�
� $���
�� ���
� +
���)����� ��
 ��$$� ��� �����
�����������
��� )
��
�� �
 ���
�)
�
 	� ���
� 2 �

$
�
 	� 
�����6 	��� �� -�$����6 
����
��

���
 	���
 ���	� 	
� ��
���� ��

��$
���)��� $���=
��� 	
� $������ �


������
 	� ����

��
 �������
 	� 	��
����� (� ���� ����)� $����� 	��� $���

$��
�	
��
��������
�
�
� 	
�
��� �� -�$����6 �
��
 $
�
 	�

�����6 ; $���� 	��
��� 	� �H� �����*
�� )��
 +
�
�6 �� ��
��$���
 	� �� ����
���$���	��� 
 �

������
� �� B���)

-
����C 
 �
 ������
 	
��� 4�	���� ���
����$�

��
 ������
 �� ������� (��
���
$��
��
 $���� �� ���	�����
6 
� 5�
���
������ $��
��
 
 
�$�
���$� 
����������
)� �
 )���F 	� 4����6 �
 �������
)� 	�
���

���������� 8�)� �� $
�$�����

�


	���� ��
 �� +
	
 �)
)� ���+���
$���� 
 ����	�6 ��� ��$���)����� �
��� ���
$��� ��)
�� 

��
� B4��� �� ��� �����
��C �������� � ��
�� )��
6 � ����	
�
 ��
�
��
���� �)
)� �� $�
$$� ��������
�$����	���
 	
� ����� $���=���6 ����
�
�
)� ��=�	
����� ��$$���
� B����=�� +
�
$�
)��
 ����� �� ���� ��;���C ��� �)
)�
�=��+�
$$���
 �����$�6 5����� �=��$�� 	�
���6 $��
���� ���
 $���� �
������6 ������
)
	
 �� ��������
 �� ���� ��F ��$
� 

$
�
��� 2 �)
)� �� $����
 ���
�������

5�
� +����
* B? ����� 7
����
6 ��
��
�
��

C�
2���� � -�$��� 	� ����� 
����� +�* ��



���� �� ����
��� 

��
�	� ���
����� 	�� ���� 
 �H� �����6 � "�
 
 �
�
���6 � -
���	H 
 � 3�
���;�6 �
4D���� 
 � #��F� ( ��
���� ��
 ��$
�
���)��� �
 ����

��
 ��� �=
��� ��
��
����� � ���
��� �������G $��� 	�)
�����
����� � ������� 
 �
 ������
 ��
 �� 5�
��
�
 $
�
6 ��� �� ���
� 
 ��=�)
6 �
���)��
�� ��=���
$� ��� �� ��	� 	
��=�������
4���� $��� ��
�$�� �++
������� �� 4��
��	;�6 ����� ����� +���� $H ��
 5�
���
���
$
��� ���������
 �
$��$$
 �
��� 

�
� ������� 2 �� -�$���� 	� 
����� ���
������ �� $�
����� 	� �� �

�� ��
 $�
�����)�* ; ������ �$�
����$� ��
6 ��F
��
 ��$�����
6 5�
��=�������

��� ���
$����$�� 
�

��� $
�
�� �
� �����	� +��
�����	�����)
��
�
�������O

�� ����

��������	
	�����
���	����

��

#��#���

4��
�� ������
��� �����������
� ����� )������6
��� 	��� )����


 �����
���
� 
������ 	� ��
���
��� �
$� +
���
 ���
�� 
��� �
�	
)��

�
� 
�$�
�� 	
��� $�����
�������$� �
� �

��
�
� $��
����
�
 �
 )�� ��


B��� ���	��
 +
����TC

1	�������9���)���	



Ciao don Giovanni,
benvenuto
don Mino
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Primo Memorial
Andrea Cropelli
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Settembre in una fotografia

di Gigi Daldossi

Dal calendario “L’Angelo”
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